ARl

NEO)Ee: e
1| &Nz | hAOARE 3,470 |BRFE1236% fth BWUR
2 LD | L R <F R i E it 3,213 |ERTE460F1 1th 222 =T 4 [RIGRICE EH R AL
3 | AN (hEFEESFTIREERK 687 |BRTE1540%1 Sa=Tq LIHE
4 | dLNED (A= RBE &M 4,833 |ERTE1818%F1 ft B L-ERE
5 |JLIBD |(ZERIZa=T4ILE 1,873 |EE450F1 1 SaZT - RiE
6 |dLIhD |EZRESHMAER 82 |E&1198%31 SazT - RiGE
7| AT | KEHCHEMAR 60 |E&1528%19 Sa=T1-RHE
8 | )L |FIRIZA=T (RS 4,474 |%22805&1 RAR—Y - E R DY B CE E B3 THAAE)
9 | N | ZEXRENMRENE 100 [E & 188153 fth SazT-Ri5E
10 | L)1 | SEERE IR ERE 330 | £ &564% fib SazT-Ri5E
11| e8| #ARSE/\ 3R it IR 2 e 235 | X E2325% 1 Sa=T1-RHE
12| L8 | KOEBshHNAE 4,045 (H1£E1231F1 i BB CR EH o I HERE)
13| dLhid | R AR 252 |#141248%2 SazT-Ri5E
14 | dLh3 | MEEYTAR 66 |H14 183774 aZa=T4-LHE
15 | dEN | Bl A LA E IR E b E i 2,052 |HI42646%F fth A2 =T« LHE
16 | dL)ID | FEHE mL R B E 2,003 |H14E2439% BWUR
17 | dEND |0 E/\ it R E e E 229 |H4223%1 AZTa=F - [RIHE
18 | dL)1D |2EA i N E 1,153 [/NEFLR049%% AZa=T - KGE
19 | AN [NEFRAE 585 |/NEFL964%8 aZa=T4-LHE
20 | ALl (B iR R/NVAE 172 |INEFER1837 1 aZa=T4-LHE
21 | dLNBD [NERREE A B R i E M 1,338 [/NEFLR652% RR—Y- @ ICYE
22 | At EREHRETIIUR 105,844 |#aF #5e GAT)I1 B0 RAR—Y-ERIYE
23 | L) (MR RAR—YLAE 9,678 |#aF2019% fth RAR—Y-ERIYE
24 | 4Lhd (HMFABLNE 292 |#4F 205728 2Za=F - [KHE
25 | AL)I0 | FAEF L ERRR E R 369 [#aF261% fth AZa=T4-LHE
26 | LD [AESAIART vk =2 686 |[FTiA620% 1 1t aZa=T4-LHE
27 | dehid |[RERAE 60 |5 iA 2557236 aZa=T4- LG
28 | JL)IliD AR FZE M 49 |[AHA2557842 aZa=T4-LHE
29 | 4L)ID AR FZE 2 78 |MAEAI143257 aZa=T4- LG
30 | dL)d AEEAZa=T4RS 2,420 | 153%1 fib BEUR
31 | LD |AE A B RE R 978 | AT 486 %1 A2 =T LHR
32 [ JLN (IBILSBEELNE 21994 |FERITE BEUR
33 | AL (FESRMAL REREN 1,287 |FEERTSE A2 =T LHR
34 | At)IiD BRI IR B R i 205 |B135462%66 A2 =T [RIHE
35 | At)IiD | EmISE et R E R M 1,008 |B9I527% AZa=T - LHE
36 | L)L | RAEHAE 501 |3R12%2 aZa=F4-KHE
37 [ dhd |ZERAE#AE 276 |53744%4 aZa=F4-KHE
38 | L)l |[mHAHEVHMAE 63 |3 1558%15 aZa=T4-KHE
39 | AL (KB ARFRERER M 2,614 |%2217%1 22 =T [KHE
40 | dLNID |4/ K IR E EE 140 |%2368%4 22 =T [KHE
41 | dL)NiD | %) \ B4t IR E R 835 |53324%1 fih AZa=T-RIGE
42 | dL)ND [ATAE it R E R 832 | 26631 BB CR E B i HERE)
43 | LD | bT L= 2,815 (BBt A —T H300%&84 ST RIS ECEE R I HAR)
44 | LB [ EYTRAE 366 |F53tE—T B300%&169 aZa=T4-KHE
45 | JLJINID | AT AR 625 (P53t & —T H600854 A2 =T LHR
46 | 4D |(FrOvTAE 296 (BB =T B734%42 AZa=T - LHE
47 | LB [ ELOLE 551 |B3t& Z T E843%108 AZa=T - LHE
48 | LNED K DHAE 876 |BtA =T H843%219 AZa=T - LHE
49 | dLNED [SAoIERE 920 (f5#& =T B883&75 AZa=T - LHE
50 | dL)D [FIAR)-ERBINERAR Rryb/—2 301 (A4 5 (325 E) BA-X{e-ERR

50 BT

188,211




